CLAS MIDTERM 3 REVIEW

I. F(L,K)=4L"K"
a. Find the short run cost minimizing demands for L
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c. Find the short run profit maximizing demand for L
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d. Find the long run profit maximizing demands for L and K
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2. F(L,K)=L"K"

a. Find the short run cost minimizing demands for L
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c. Find the short run profit maximizing demand for L
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d. Find the long run profit maximizing demands for L and K
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3. F(L,K)=4min[2L, K]

a. Find the long run profit maximizing demands for L and K. Assume that p = $5, w = $20, and r =

$15.
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4. Which of the following is false?
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\ A person who is

over a guaranteed payment of $95
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5. The total cost of labor is $100. The total cost of capital is $:

profits. What is the most you can say about profits?
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